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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T
= 1 51, 570, 257
3=
= 1 47, 206, 500
PRI T
= 1 44, 623, 700
i1 TR A7 vhyh PR R 10
, 000m3 L4 _E50, 000m3 A5
m3 11, 000 201.7 2,218, 700
FEHA (-27) +wp 150, 000m3 AT
m3 11, 000 209. 8 2,307, 800
FEHA (-27) +wp 150, 000m3 AT
m3 11, 000 209. 8 2,307, 800
i S T Cadl- ERiRY L&)
= 1 17, 864, 000
i S T Cadl- ERiRY L&)
= 1 15, 565, 000
R (SR T Cadl- ERIRY L&)
= 1 4, 360, 400
FUET
= 1 2, 582, 800
=ik
m3 22, 000 117.4 2, 582, 800
G an
= 1 4, 363, 757
THAEK T
= 1 2,709, 897
KT
= 1 66, 266
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TEHR LB T
= 1 36, 480
ARmE T
= 1 1,551, 114
AW B
B (Bf)
= 1 1,551, 114
B TR
= 1 51, 570, 257
I L
= 1 9, 492, 670
HIBGERE
= 1 5,227, 041
TR
= 1 4, 655, 098
IERA TR
(H B JIRAT )
= 1 548, 985
IERA TE Y
(W& FT)
= 1 1, 385, 773
IERA TE Y
(F U P
= 1 2,720, 340
BIGREsET (K30
= 1 571, 943
MR E (FE L)
= 1 4, 265, 629
Wi
= 1 61, 062, 927
B
= 1 15, 055, 550
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)

T AT

= 1 76,118, 477

— R

= 1 13, 401, 523
TS

= 1 89, 520, 000
THEBLFH Y %H

= 1 8, 952, 000
TH#EG

= 1 98, 472, 000
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